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330° = 330° - {35 rad = 4% rad ~ 5.759 rad

—30° = —30° - 55 rad = 3" rad =~ —0.524 rad
—80° = —80° - & rad = = rad ~ —1.396 rad
—150° = —150° - {5 rad = =2« rad ~ —2.618 rad
3m

a1 —135°

o 180° _ 100
18 mrad 10

135° is coterminal with: 135° + 360° = 495°, 135° + 720° = 855°, 135° — 360° = —225°,
135° — 720° = —585°. ‘
lé” is coterminal with: 11" + 27 = 22" Ur 4 gp = 32”, 1:—%’ - 2T = —’é —675 4 = — 187

—50° is coterminal with: —50° 4+ 360° = 310°, —50° + 720° = 670°, —50° — 360° = —410°,
—50° — 720° = —-770°.

Since 330° — (—30°) = 360°, the angles are coterminal. .

Since #27 — LT — AT — 77 js not a multiple of 2, the angles are not coterminal.

Since 340° — 50° = 290° is not a multiple of 360°, the angles are not coterminal.
Since 361° — 1° = 360°, the angles 361° and 1° are coterminal.
Since —100° — 260° = — '360° is a multiple of 360°, the angles —100° and 260° are coterminal.

Since 1270° — 190° = 1080° = 3 - 360° is a multiple of 360°, the angles 1270° and 190° are
coterminal. .

Since -%’r - —4risa multiple of 27, the angles -—%” and %” are coterminal.
Since 10 — 27 = 3.717, the angles 10 and 10 — 27 are coterminal.

Since 5;" - —— = 241 = 12 - 2m, the angles 5" 817 and %’5 are coterminal.

9=§=-1—Q:2rad=2-1—80—°';§3114.6°

Using the formula s = 0r, the length of the arc is s = 45° - g - 10 = — ~ 7.85m

Solving for § we have 6 = -1:, the measure of the central angle is 8 = 5 =12
rad=12 % ~688°.



